M4056 Quiz, Aug. 28, 2010 Name

Recall: If X is binomial (n,p), then fx(z | n,p) = L)p*(1—p)" %, z=0,1,...,n.

l.a) Assume X is binomial (n,p). What is the probability that a < X <bfor integers a, b
between 0 and n (inclusive)?
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1.b) Assume X is binomial (5,1/3). What is the probability that 2 < X < 47
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1.c) Write the expression that gives the mgf of X (i.e., the expected value of e X). (I am
not asking you to simplify.)
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2) Assume X is binomial (n,p). Define g(p) := fx(z | n,p). Compute %g(p), and use

this to find the maximum of ¢ on [0, 1].
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